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R£bl©:-.............................................

jÄœbkhÊí« ïy¡»aK«
neu« : 2.30 kÂ¤âahy§fŸ

òŸËfŸ: 100

khfhzf; fy;tpj; jpizf;fsk;
tlf;F khfhzk ;

khfhz kl;l Mz;bWjpg; nghJg; guPl;ir - 2015
tpQ;Qhdk; - I

Neuk; : 1.00 kzpj;jpahyk;juk; - 10

Rl;nlz;: ............................................. Gs;spfs; :
100

ftdpf;f

1) vy;yh tpdhf;fSf;Fk; ,j;jhspNyNa tpilaspf;Ff.

2) 1 njhlf;fk; 40 tiuAs;s tpdhf;fs; xt;nthd;wpYk; (1)>(2)>(3)>(4) vd ,yf;fkplg;gl;l

tpilfspy; rhpahd my;yJ kpfg;nghUj;jkhd tpiliaj; njhpT nra;f.

3) ckf;F toq;fg;gl;Ls;s tpilj;jhspy; xt;nthU tpdhTf;Fk; chpa tl;lq;fspy;

ckJ tpilapd; ,yf;fj;ij tl;lj;jpDs;Ns Gs;sbia (x) ,Lf.

01. jw;NghJ Vw;Wf;nfhs;sg;gl;l %d;W Nghpuhr;rpa Kiwg; ghFghl;il mwpKfk; nra;jth;

1) mhp];Nuhl;by; 2) fNuhy]; yPdPa];

3) fhh;s;T+]; 4) NwhNgl; tpl;Nlfh;

02. kdpj clypy; jpzpT E}w;WtPj mikg;gpy; mjpfstpy; fhzg;gLk; gpujhd %yfk;

1) fhgd; 2) Ijurd; 3) iejurd; 4) xl;rprd;

03. khztd; xUtd; fpof;fpy; ,Ue;J Nkw;F Nehf;fp 4 epkplj;jpy; 30m J}uk; nrd;W

mq;fpUe;J fpof;F Nehf;fp 2 epkplj;jpy; 20m J}uk; nrd;whd; mtdJ ,lg;ngah;r;rpAk;

gazk; nra;j J}uKk; KiwNa

1) 50m, 10m 2) 50m, 10m 3) 10m, 50m 4) 10m, 50m

04) mUfpy; fhl;lg;gl;l epAf;fpspNahiul; mikg;gpy;

A Fwpf;Fk; nghRNgw;W nty;yg;gjhh;j;jk;

1) Rf;FNwhR 2) ngd;NuhR

3) FSf;NfhR 4) gpwf;NuhR

05. jPf;Fr;rp> ntbkUe;J jahhpg;Gf;fspy; gad;gLk; %yfk; vJ?

1) S 2) Mg 3) Na 4) Ca

06.

glj;jpy; fhl;bathW nghUs; xd;wpy; ,U rha;thd tpirfs; P,Q gpuNahfpf;fg;gLk;
NghJ tpisAs; tpirapd; jpirahf ,Uf;ff; $ba mikit Gs;spf; Nfhl;bdhy;

rhpahff; fhl;LtJ

1) 1 2) 2 3) 3 4) 4

   

P
3 4

Q

2
1

AnghRNgw;W

$l;lk;
iejurd;

%yk;
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07. fynkhd;wpy; nkd;rt;tpdhy; vy;iyg;gLj;jg;glhj Gd;dq;fk; vJ?

1) ,iokzp 2) ,iwNghNrhk; 3) Gd;ntw;wplk; 4) fU

08. mad;gpizg;Gr; Nrh;itfspd; ,ay;ghf fUjKbahjJ

1) cah;cUFepiy> cah;nfhjpepiy nfhz;lit

2) ngUk;ghyhd Nrh;itfs; ePhpy; fiuAk;

3) xd;Wf;nfhd;W vjpuhd Vw;wk;ngw;w mad;fshy; Mdit

4) ,it ngUk;ghYk; miwntg;gepiyapy; thA> jput epiyfspy; fhzg;gLk;

09. ituRf;fs; njhlh;ghd $w;Wf;fspy; rhpahdJ vJ?

1) ituRf;fs; RNA epAf;fpspf;mkpyj;ij kl;Lk; nfhz;lit

2) ituRf;fs; fl;Lg;gl;l xl;Lz;zpfs; MFk;

3) ituRf;fs; Rthrj;ij Nkw;nfhs;Sk;

4) ituRf;fis xspEZf;Ff;fhl;b %yk; mtjhdpf;fyhk;.

10.

60cm mfykhd fjT xd;wpy; njhopw;gLk; tpirfisAk; J}uj;ijAk; glk;

fhl;Lfpd;wJ. ,f;fjit X,y; js;spj;jpwg;gjw;F 60N tpir Njitg;gLfpd;wJ

vdpd; Y,Z Mfpa Gs;spfspy; jdpj;jdpahfj; js;spj; jpwf;fj; Njitahd tpirfs;

KiwNa

1) 40N, 20N 2) 20N, 40N 3) 30N, 20N 4) 20N, 30N

11. nrt;ntd;G kr;ir cUthf;fj;jpw;F fhuzkhd tpw;wkpd; tif

1) tpw;wkpd; B 2) tpw;wkpd; C
3) tpw;wkpd; K 4) tpw;wkpd; A

12. cyh;gdpf;fl;b jahhpg;gpy; gad;gLj;jg;gLk; thA vJ?

1) H
2

2) O
2

3) CO
2

4) N
2

13.

tspapy; nghUspd; epiw 50N MFk;. ePh; nfhz;l ANuf;fh FtisapDs; nghUis

Kw;whf mkpo;j;jpa NghJ thrpg;G 30NIf; fhl;baJ vdpy; Kfitapy; cs;s

ePhpd; epiw ahJ?

1) 20N 2) 30N 3) 50N 4) 80N

nghUs;

30N

 Kfit

50N

 20cm  20cm 20cm 

X Y Z
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14. jhtuf;fyr;Rthpd; gpujhd Mf;ff;$W vJ?

1) nrYNyhR 2) ifw;wpd; 3) miur;nrYNyhR 4) ngf;hpd;

15. gpd;tUk; ,urhadj;jhf;fq;fspy; xw;iw ,lg;ngah;r;rpj; jhf;fkhf mikahjJ.

1) Mg + CuSO
4
  MgSO

4
 + Cu

2) Mg + 2HCl     MgCl
2
 + H

2

3) 2KBr + Cl
2
   2KCl + Br

2

4) CaCl
2
 + Na

2
CO

3
CaCO

3
 + 2NaCl

;16. $h;g;GhPjpahf NfhNlw;wh fzj;Jld; neUq;fpa fztuyhw;iwf; fhl;LtJ

1) nkhy];fh 2) vf;ifNdhNlNkw;wh

3) Mj;jpug;Nghlh 4) mdyplh

17. 50W tYTs;s xU kpd;Fkpo; xU kzpj;jpahyk; ,aq;Fk;NghJ cs;nsLf;fg;gLk;

kpd;rf;jpapd; msT ahJ?

1) 100kJ 2) 180kJ 3) 200kJ 4) 300kJ

18. gpd;tUtdtw;Ws; KidTj;jd;ikaw;w gq;fPl;L tYg;gpizg;igf; nfhz;l %yf;$W

1) H
2
O 2) HF 3) H

2
4) HCl

19. A - ty;yhiu Xb %yk; ,dg;ngUf;fj;ij Nkw;nfhs;Sk;

B - md;dhrp cwpQ;rp> Fkpok; %yk; ,dg;ngUf;fj;ij Nkw;nfhs;Sk;

C - yPf;]; jz;L Kfpo; %yk; ,dg;ngUf;fj;ij Nkw;nfhs;Sk;

Nkw;gb $w;Wfspy; rhpahdJ my;yJ rhpahdit vit?

1) A kl;Lk; 2) B kl;Lk; 3) AB kl;Lk; 4) ABC ahTk; rhp

20. A - Na, K Nghd;w cNyhfq;fs; mtw;wpd; cUfpa FNshiul;Lfis kpd;gFg;gjd;

 %yk; gphpj;njLf;fg;gLfpd;wd.

B - Fe, Sn, Zn Nghd;w cNyhfq;fs; gpwNrh;itfshy; jho;j;jg;gl;L gphpj;njLf;fg;

 gLfpd;wd.

C - Au, Ag, Pt Nghd;w cNyhfq;fs; ngsjpf Kiwfisg; gad;gLj;jp gphpj;

 njLf;fg;gLfpd;wd.

Nkw;gb $w;Wf;fspy; rhpahdit

1) A, C. kl;Lk; 2) A,B kl;Lk;

3) B,C kl;Lk; 4) A,B,C ahTk;

21. gpd;tUtdtw;wpy; ifw;wpdhyhd fyr;Rtiuf; nfhz;bUg;gJ my;yJ nfhz;bUg;git

A - gq;fR B - gw;wPhpah C - Gwl;NlhNrhth

1) A,C kl;Lk; 2) B, C kl;Lk; 3) Akl;Lk;       4) B kl;Lk;
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22. jhtuq;fspy; cauk;> Fl;il Mfpa ,ay;Gfs; T,t Mfpa ,U fhuzpfshy;

jPh;khdpf;fg;gLk;

TT x tt ,df;fyg;gpd; NghJ Njhd;Wk; caukhd Njhw;w mikg;ig fhl;Lk;

Kjyhk; re;jjpapd; rjtPjk;

1) 100% 2) 75% 3) 50% 4) 25%

23. %yh;jpzpit msf;ff;$ba myfhf miktJ

1) g mol 2) kgmol 3) gmol-2 4) g mol-1

24.

Nkw;Fwpg;gpl;l jilfspd; xOq;F Kiwia rhpahf Fwpj;Jf; fhl;LtJ.

25. gpd;tUtdtw;wpy; re;jjpapD}lhf flj;jg;glhj ,ay;G vJ?

1) ,ize;j fhJr; Nrhid

2) ehf;ifr; RUl;Ljy;

3) Njhypy; Vw;gl;l jOk;Gfs;

4) RUz;l jiy Kb

26.

x - Ijhd mkpyk;

y - nrwpe;j mkpyk;

vg;ghpNrhjidf;Fohapy; cs;s Mg kpf tpiutpy; kiwe;J NghFk;?

1) A 2) B 3) C 4) D

27. 5kg jpzpT nfhz;l nghUshdJ 3ms-2 Mh;KLfiyg; ngWtjw;F mg;nghUspd;

kPJ gpuNahfpf;fg;gl Ntz;ba tpirapd; msT ahJ?

1) 5N 2) 10N 3) 15N 4) 20N

28. X vDk; mZnthd;wpd; jpzpT 4.484×10-23g MFk;.

   mZtpd; jpzpT 1.993×10-23g MFk;. X,d; rhh; mZj;;jpzpT

1) 23 2) 27 3) 39 4) 40

A
1. epiyahdjil

2. khWk; jil

3. xsp czh; jil

4. epiyahd jil

B
khWk; jil

epiyahd jil

khWk; jil

xsp czh; jil

C
xsp czh; jil

xspczh; jil

epiyahd jil

khWk; jil

A B
C

12
6 C

x

Mg Jz;Lfs; 30C
Mg ehlh

50C

Mg Jz;Lfs ;

y x y

B C
D

A
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29. tpe;Jfs; jw;fhypfkhf Nrkpj;J itf;fg;gLk; Mz; ,dg;ngUf;fj;njhFjpapd; gFjp

vJ?

1) tpij 2) tpijNkw;wpzpT

3) mg;ghw;nrYj;jp 4) Rf;fpyg;Glfk;

30. jug;gl;;l mZr;rhyf mikg;gpdhy; Fwpj;Jf; fhl;lg;gLtJ

1) fhhPak; 2) ituk;

3) Nrhbak; FNshiul;L 4) fy;rpak; xl;irl;L

31.

glj;jpy; fhl;lg;gl;Ls;s jilj; njhFjpapd; rktYj;jil ahJ?

1) 13 2) 5 3) 2 4) 1

32.   ,y; cs;s tYtsT ,yj;jpud;fspd; vz;zpf;if ahJ?

1) 2 2) 4   3) 12 4) 24

33. (NH
4
)

2
 SO

4
,y; fhzg;gLk; N,H,S,O mZf;fspw;F ,ilapyhd tpfpjj;ij rhpahff;

Fwpg;gJ.

1) 2:8:1:4 2) 1:4:1:4 3) 1:4:2:4 4) 2:6:1:4

34. gpd;tUtdtw;wpy; cuha;T tpiria Fiwf;Fk; re;jh;g;gk; my;yhjJ

1) njhLifAWk; Nkw;gug;Gfis xg;gkhf;Fjy;

2) irf;fpspd; RoYk; gFjpfspDs; cUisg; Nghjpifaply;

3) Nrw;wpy; gyifitj;J mjd;Nky; elj;jy;

4) RoYk; Nkw;gug;Gf;fpilapy; fpwP]; G+Rjy;

35. Mg cNyhfj;ij Glf;FifapDs; %ba epiyapy; td;ikahf ntg;gNkw;Wk;

NghJ iejurd; thATld; jhf;fk; mile;J cUthFk; Nrh;itapd; #j;jpuk; ahJ?

1) N
2
Mg

3
2) Mg

2
N

3
3) Mg

3
N

2
4) N

3
Mg

2

36. gpd;tUk; $w;Wfspy; rhpahdjhf miktJ vJ?

1) fly; kl;lj;jpYk; ghh;f;f caukhd gpuNjrj;jpy; nghUspd; epiw $LfpwJ.

2) GtpapYk;> re;jpudpYk; xU nghUspd; jpzpT khWglhJ

3) Gtpapy; fhzg;gLk; epiwapYk; ghh;f;f re;jpudpy; nghUspd; epiw $Ljyhff;

fhzg;gLk;

4) fly; kl;lj;jpYk; ghh;f;f caukhd gpuNjrj;jpy; nghUspd; jpzpT FiwtilfpwJ

3

3

3

2

2

24

M
g12
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nts;sp

rptg;G kQ;rs;

fgpyk;

37. flypd; xU Fwpj;j ,lj;jpy; Mok; 20m MFk;. mt;tplj;jpy; flypd; mbkPJ

fly;ePhpdhy; gpuNahfpf;fg;gLk; mKf;fj;ij fhz;f.

(fly;ePhpd; mlh;j;jp 1050kgm-3, g=10ms-2)

1) 21000Pa 2) 105000Pa 3) 210 000Pa 4) 2,100.000Pa

38. 20ms-1 Ntfj;jpy; ,aq;fpf;nfhz;bUe;j thfdk; xd;W 5s rPuhf Mh;KLfp 50ms-1

vd;Dk; Ntfj;ij ngw;wJ ,f;fhyg;gFjpapy; Mh;KLfy; ahJ?

1) 2ms-2 2) 6ms-2 3) 10ms-2 4) 12ms-2

39.

 %d;W tpirfs; jhf;fp nghUs; rkepiyapy; ,Ug;gij glk; fhl;Lfpd;wJ jhf;Fk;

,U tpirfspw;fpilg;gl;l Nfhzk; ahJ?

1) 120 2) 90 3) 150 4) 60

40. kQ;rs; - 4

rptg;G  - 2

fgpyk;  - 1

nts;sp - 10%

Nkw;Fwpg;gpl;l jilapd; jilg;ngWkhd tPr;R ahJ?

1) 22 - 26 2) 216 - 264

3) 230 - 250 4) 2300 - 2500

(40x2=80 Gs;spfs;)

F

F F


